
 
Name:       December 4, 2008 
Algebra       OHS 
 
Solve the following 
 
 
(A) x + 9 = 18  
 

 
(B) x + 22 = 30 
 

 
(C) x + ½ = 2  
 

 
(D) 33 = x + 40 
 



 
(E) ⎯ 11 + x = ⎯ 101 
 

 
(F) k – 2 = 21 
 

 
(G) w – 17 = 6 
 

 
(H) y – 4 = ⎯5 
 

 
(I)  ⎯3.2 + z = ⎯7.3 
 

 
(J) ⎯5.7 = z + ⎯8.7 
 



 
(K)  3, 9, -5, and 6 are these 
 

 
(L)   y · y 
 

 
(M) The opposite of  ⎯16/4 
 

 
(N) True or False:  

All whole numbers are  
integers, and all integers 
are whole numbers. 

 

 
(O) 5x = 75 

 

 
(P) 30 = 4x + 6 
 



 
(Q) 187 = −1.87r 

 
(R)  ¼ x = 250 
 
 

 
(S)  ⎯ ⅔ x = ⎯ ⅓ 
 

 
(T)      ⅝ x + ½  = ½  
 

 

 


